[ prevost

Kit of screws and nuts for panel mounting

7.

)N
il P

A (" {\

// .

).

/9

).

" [
[ ("'
!

0
1

Includes Highlight
Kit comprising: - 4 M10x20 Workstation ergonomics
mm screws - 2 M10 nuts - 2

captive M10 nuts

Description

Reference Includes

Kit comprising: - 4 M10x20 mm screws - 2 M10 nuts - 2

PLA VEGM
captive M10 nuts

Kit comprising: - 2 M8x20 mm screws - 1 M8 nut - 1 captive

PLA VEPM
M8 nut

Kit comprising: - 12 M6x20 mm rectangular head screws - 12

PLA VEAF M6 nuts for mounting an accessory. a wall fitting and an ALTO
assembly

PLA VEWF Kit of screws and nuts: 4 M6x20 mm screws 4 M6 nuts

Prevost UK LTD - Unit G, Tower Business Park - Commercial Road - BB3 OFJ Darwen - Lancashire - United kingdom
Phone. (+44) 01254 873 389 -sales@prevost-Itd.co.uk - www.prevost.eu



[ prevost

Prevost UK LTD - Unit G, Tower Business Park - Commercial Road - BB3 OFJ Darwen - Lancashire - United kingdom
Phone. (+44) 01254 873 389 -sales@prevost-Itd.co.uk - www.prevost.eu



